100.000

T5.000

50.000

25.000

-25.000

-50.000

-75.000

-100.000

-125.000

-150.000

-175.000

-200.000

-225.000

-250.000

-275.000

Example: reloading the cold buffer storage via heatpump

active recooling by reloading the cold buffer storage -
heat exchanger shows negative values due to the heat transport

max. temperature of the cold buffer
storage reached (10°C)

no heat transfer, positive
values for the heat exchanger
usance

temperature of the cold buffer storage dropped
down by it's reloading via the heatpump to the
min. value (5°C)

00:00/ME. Jun O400/16. Jun OB:00/18, Jun 12:00M6. Jun 1600016, Jun 20:00/15. Jun 00:00/7.Jun 0400417, Jun 0B:00M7. Jun 12:0007.Jun 18:00/17.Jun  20:00/17. Jun 0D:00/18. Jun 0400018, Jun 080018,
Zeitachse: 2001515, Jun - 08:25M1 8. Jun

usance, heat exchanger — temperature cold buffer storage

10,50
10,25
10,00
75
050
925
0,00
875
850
B8.25
2,00
7.75

- 7.50

¥.25
v.00
B.75
G6.50

- 8,28

.00
575
5,50
525

5,00

- 4,78

Jun



